
 
 
Winch Mounting Plate (ATV) – P/N: 61238.10      Yamaha Rhino 2004 – 2007 
Installation Instructions. 
 
Hardware:    (4) 5/16 x 1” Hex Head Bolts         (1) Winch Mount Plate 
                          (4) 5/16” Nylock Nuts                    (4) 5/16” Fla t Washers 
 
Instructions. 
 

(1) Place winch mount behind the front bumper  (Fig. 1) 
(2) Place 5/16 x 1” bolts through the 4 mounting tabs of the plate.  
(3) Attach plate to ATV and tighten 5/16” lock nuts securely.  
(4) Attach winch and roller fairlead according to manufactures instructions.  
 
It is important to note that it may be necessary to remove the lower roller to install 
wire rope on some models.  
 
(Fig. 1) 
 

 


